(#3£1)

Hte
5

F A o & B 0

n =

& (B) F4 - KRB

ZRBFERUND AN SIE

DD LI ERE - DEOHEE LD e o |BHIE(—BEE B AALLEE (i) SR (M5 4E)
nE%S ROE B HRURE RSB BD s2m207) o D& w® =
BERB T v/ R s 637 77
L BB SRR (LIPS % 5 AT St 887,721 _
BB 1 T R Re.4.1 | ILE%E 4,550, 130|— g 38 R R
ST T F AR B AT 565 428 — —
ke e st et — — _
THo sl BEEER| pg 419 TP EIAT 14,105, 300|452 354 — — Pt fat
RIRER T i A BT 1612— 1 — —
AF6EE HELRE —FLaHtan — — ‘
EEH RO.4.23 |\ oeae) I ATEE R 2420 25,190, 000| 5% % S B R
() B )1| B 1k (B HET 25, 400, 000
pust MESOXES| R4l [EEEEEOSEREHKS 27, 500, 000|54 #%: (8) FRET 25, 500, 000| Bt 32 F IR+ B 9
s n i &) BT 26, 000, 000
N o ZES kg szF E}L-U-_ th (1:*) _ _
E@éﬁ%t@ﬁh%ﬁ RG.4.1  |IigEBIRiko) BRTHETE B0 17,523, 000| — f& 35 4 — — BRI P 1 B
==a

=49




